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In question 1-7, select the single best answer. (7%)

( ) 1. ADH secretion will increase following
(a) severe sweating _
(b) infusion of 1 L fluid containing 145 mM NaCl
(c) ingestion of water
(d) all of the above
(e) none of the above

( ) 2. Thyroid hormone stored in the lumen of follicles is in the form of
(a) thyroxine
(b) triiodotyronine
(c) thyroglobulin
(d) iodotyrosine
(e) all of the above

. () 3.Removal of the pituitary gland would result in
. (a) the development of a goiter
- (b) decreased synthesis of T3

(c) hypertrophy of the thyroid
(d) increased synthesis of T4
(e)all of the above

( ) 4. Mature spermatozoa are stored in the
(a) seminal vesicles _ -
(b) seminiferous tubules ‘ !
(c) rete testes
(d) urethra

; (e) none of the above

'( ) 5. Which of the following are incorrectly paired?
~(a) ACTH : increased glucocorticoid secretion

(b) Aldosterone : increased the reabsorption of K* from the urine

(c) Angiotensin II : increased the secretion of aldosterone

(d) Atrial natriuretic peptide : inhibited renin secretion

(e) Vitamin D : increased the active transport of Ca?* and POs> from the intestine
{ ) 6. Parathyroid hormone causes

(a) increased Ca™*? release from bone
(b) decreased reabsorption of calcium ions by the renal tubules
(c) decreased reabsorption of phosphate ions in the plasma
(d) all of the above
(e) none of the above
(' )7.Awoman is given a drug that blocks the ability of estradiol to bind to its receptors. You would expect
(a) LH and prolactin to increase '
(b) LH and prolactin to decrease
(c) LH to increase and prolactin to decrease
(d) LH to decrease and prolactin to increase
(e) none of the above




B3 Ak Btz enemomd K( ame R L1

Instructions: Fill in the blanks of the following statements. (4%)
8. In humans, fertilization usually takes place in the
9. The analogue of the Granulosa cell in the male is the cell. . .
10. The hypothalamic hormone which inhibits growth hormone secretion is .
11. The hypothalamic hormone which stimulates LH and FSH release by action on the pituitary gland is

Instructions: :
Each of the questions below is followed by suggested answers. Select the ONE that is BEST in each case. (4%)
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() 12. Two persons, A and B, were subjected to a total fast (no food) beginning at time "0" in the above
figure. The plasma glucose concentration values of A and B during the fast are plotted in the figure.
One of the two persons is normal, the other is suffering from adrenal cortical hormone deficiency.
The normal person is A or B?
() 13. Which person will have the greater rate of hepatic gluconeogenesis, A or B?
) 14. Which person will have the higher concentration of free fatty acids in the plasma during fasting,
AorB?
() 15. Which person will have the higher concentration of glucagon in plasma, A or B?
16. Please describe the steps of respiration (from ambient air to cells, or vice versa) briefly. (10%)
17. Please list three factors which can shift the oxygen-hemoglobin dissociation curves. (5%)
18. Please name the factors which determine arteriolar resistance. (10%)
19. Please describe the effects of the sympathetic and parasympathetic nerves on the heart. (10%)

|20, MAAIERRIITIL,  (5%)
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23, AvRe19 BN 19
a. Parkinson's disease
b. Receptor potential
c. Excitatory postsynaptic potential

d, Golgi tendon organs -
e. Muscle spindles

24, ABR AR LEATHE B AT, £ X4 Na+-channels, Kt.channels, & CaZ+.channels
W, RBUL = 00T S I — AN ok 3 b ShpyT- , AR R TER R, (9%)

25, $@MEANL.ESDEF €3 (glycoproteins) TE 52 £ M RAMEIAL, ko, M FAIRE 6O RAN
DAL A D 456 AR RS ZAS L 65058 (6%)
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